2=5/16 X 1 1/2" BOLTS-A

e
4=5/16 LOCK NUTS-B STRONG SMIVIADE

BY SAVANT MANUFACTURING, INC.

8=5/16 SAE WASHERS-C www.savantmfg.com
o o pLaSTIC W #298138-R119
2=1 1/2" PLASTIC WHITE -
WASHERS-E KAWASAKI TYREX 750 UTV
1ST STEP REMOVE THE FRONT PLASTIC 3RD STEP MOUNT THE WINCH TO THE PLATE
BUMPER. THEN REMOVE METAL TUBE LEAVE THE BOLTS LOOSE UNTIL THE WINCH
BUMPER AFTER INSTALLATION REINSTALL IS ON THE FRAME AND ALL BOLTS HAVE
THE BUMPERS. BEEN INSTALLED... WINCH HAS IT'S OWN
2ND STEP USE THE TWO 5/16 X 1 1/2 BOLTS HARDWARE..
AND TWO 5/16 WASHERS. RUN THE BOLTS 4TH STEP PLACE THE 1 1/2 WHITE WASHERS
THROUGH THE HOLES THAT ARE NEEDED UNDER THE PLATE ONTO THE 1 1/2" BOLTS
FOR YOUR WINCH. THAT WERE INSTALLED ON STEP 1.
PLACE THE 1 1/2" WHITE PLACE THE 1 1/2" WHITE
PLASTIC WASHERS PLASTIC WASHERS
UNDER THESE HOLES IF UNDER THESE HOLES IF
A 4000LB WINCH 1S A 2000-3000LB WINCH IS

USED.

USE THIS SET OF 4 '
HOLES FOR A 4000LB USE THESE SET OF FOUR
WINCH. HOLES IF A 2000-3000LB

WINCH IS USED.

THE FRONT OF THE PLATE WILL BOLT TO THE
FRONT TUB. BUMPER AFTER THE TUBE BUMPER
HAS BEEN REPLACED ON THE MACHINE.

——MOUNT THE ROLLER FAIR LEAD HERE.




